


To check if our solutions worked we conducted the same quiz again and here are the
results-
We can clearly see that there has been a consider amount of improvement in the
answers and thus, we think this solution has been successful.

Which of these is not an effect of falling ground-water levels?

10 /10 correct responses

Decrease in available and

accessible groundwater canj—0 (0%)

make agriculture suffer
Depletion of groundwater can

lead to water reduction in[—0 (0%)

streams and lakes

+ Falling groundwater levels can : y
H gl 10 (100%)
cause tsunamis and snowstorms

Fall in groundwater can spoil
water quality by causing saltwater
contamination

0

Which of these agricultural practices is the most water efficient?

S /10 correct responses

+ Using drip irrigation for
irrigating the crops in water-deficit
areas

Practicing extensive farming
which exhausts the top-most
layer of sail

Employing sprinkler imgationin|

areas facing water scarcity

Maone of the above|—0 (0%)

0

0 (0%)

How does mining of minerals damage water bodies like lakes and rivers?

10 / 10 correct responses

Mining contaminates water with
metals which are leached out by—0 (0%)
flowing water

Mining dries lakes up by stopping
the flow of water into them and|—
damaging the lake ecosystem

+/ Both (a) and (b) 10 (100%)

Neither (a) nor (b)|—0 (0%)

What harm does water pollution cause?

9 /10 correct responses

It leads to the spread of water-
borne diseases

It destroys aquatic life by harming|
aquatic plants and animals

It causes scarcity of potable
water by making water unfit for —1 (10%)
drinking
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For our Project to be better we had occasional
meetings with Hayal ma'am and took her advise on
our work

Priyanshu Singh




